spectrum number fa (107" erg em™2s7'47")

& and x
-0.1

Mean Spectrum

rma39 oA 548 b
IIIII IIIIIII.IIIIIIII_'_I'_IIIIIIIIIII!
o
o
T
Nm
1
E
o
2
5 -
~ cont
°
=
BLR
o
IJ 1 NLR
2000 3000 4000 5000
A (R) z = 0.83544

RMS Spectrum

YRR A

4000 5000

1 I 1 H IHIHI thIHI
3000
A (R) z = 0.83544

x(\t) = ( Data — Model A ) /o x
3/(412470-4884)=1.159=>1.007

B
<
o
)
o~
Q -
[7e]
o
o
3
T T
o
«
o~
)
S
g
all L )
2000 3000 4000 5000
bad:1450=0.36% A (R) z = 0.83544

—0.011(20) x = 1.051(83)
med(mad) A

DL L
B fh MU

M
rm439

LN

m

4000 5000

-0.2

3000
A (R) z = 0.83544

BLR

& and x

f) (10717 erg em™2s7'87")

0.2

0

-0.2

20

10

1.2

0.9

Continuum Lightcurve

rm439 c5
L e L A A A A L A A i W ]
<+
lo
3]
................................ lo
1o
=N
|
19608 ) 255238 ) 33228 ) 43258 ) 56298 |:$
7000 7500 8000 8500 9000
MJD — 2450000
BLR Lightcurve
rm439
-~ 1 - 1T T T 1T T ]
""" P A T S N
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
rm439
T LI B L A R B L S B B L B AL |
" 1 " 1 " " 1 " " 1 " I-
7000 7500 8000 8500 9000
MJD — 2450000
u = —0.02(22) x = 0.950(22)
med(mad) A

A
ALY VAS

7500 8000 8500
MJD — 2450000

2000

Ac %



